Calculations related to Enthalpy- Class worksheet.- 2025
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Standard enthalpy of formation of CeHe(l) = + 49 kJ mol?, Standard enthalpy of
formation of CO(g) = -393 kJ mol?, Standard enthalpy of formation of H.O(l) = -286
kJ mol?, Calculate the Standard enthalpy of combustion of CsHs(l)

Standard enthalpy of formation of C2HsOH(l), CO2(g) and H2O(l) are -227, -393, -286
kJ mol? respectively. Calculate the Standard enthalpy of combustion of C2HsOH(l)

Standard enthalpy of formation of C2Hx(g), CO2(g) and H,O(l) are +226, -393, -286 kJ
mol? respectively. Calculate the Standard enthalpy of combustion of C2H2(g).

Standard enthalpy of formation of CH3;CHO(I), CO2(g) and H.O(l) are -166, -393, -286
kJ mol? respectively. Calculate the Standard enthalpy of combustion of CH3;CHO(l).

Standard enthalpy of combustion of C(s, gr), S(s, Rh) and CSx(l) are -393, -297, -1200
kJ mol™ respectively. Calculate the Standard enthalpy of formation of CSy(l).

Standard enthalpy of formation of C2HsOH(l), C2H4(g) and H2O(l) are -277, -52, -286
kJ mol? respectively. Calculate the Standard enthalpy following reaction.

C,HsOH (l) > C2H4(g) + H20(|)

Drawing enthalpy cycles

Standard enthalpy of combustion of C2Hs(g), C(s, gr) and Hx(g) are -1560, -393, -286
kJ mol? respectively. Calculate the Standard enthalpy of combustion of C2Hes(g) using
an enthalpy cycle.

Standard enthalpy of formation of CO»(g), H-O(l) and CH3CHO(l) are -393, -286 and -
166 kJ mol? respectively. Calculate the Standard enthalpy of combustion of
CH3CHO(]) using an enthalpy cycle.

Standard enthalpy of formation of CO(g), H20O(l) and CH3;COOH(l) are -393, -286 and
-487.6 kJ mol? respectively. Calculate the Standard enthalpy of combustion of
CH3COOH(l) using an enthalpy cycle.

Standard enthalpy of combustion of CsHs(l), C2H2(g) are -3345, -1300 kJ mol?
respectively. Calculate the Standard enthalpy of the following reaction using an
enthalpy cycle.

3 Csz(g) > CeHe(l)

Drawing enthalpy Diagrams.
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Standard enthalpy of formation of CO»(g), H-O(l) and Ce¢Hs(l) are -393, -286 and +49
kJ mol? respectively. Calculate the Standard enthalpy of combustion of CsHe(l) using
an enthalpy level diagram.

Standard enthalpy of formation of CO2(g), H20(l) and CzHx(g) are -393, -286 and +226
kJ mol? respectively. Calculate the Standard enthalpy of combustion of C2H2(g) using
an enthalpy level diagram.

Standard enthalpy of formation of CO2(g), H.O(l) and C,HsOH(l) are -393, -287 and -
277 kJ mol* respectively. Calculate the Standard enthalpy of combustion of C2HsOH(l)
using an enthalpy level diagram.

Standard enthalpy of formation of CO2(g), H-O(l) and CH3OH(l) are -393, -287 and -
239 kJ mol? respectively. Calculate the Standard enthalpy of combustion of CH3OH()
using an enthalpy level diagram.

Standard enthalpy of formation of CO(g), H>O(l) and CsH120¢(s) are -393, -286 and -
2502 kJ mol? respectively. Calculate the Standard enthalpy of combustion of
CesH120s(s) using an enthalpy level diagram.

Standard enthalpy of formation of CO2(g), H-O(l) and CH3;CHO(I) are -393, -286 and -
166 kJ mol! respectively. Calculate the Standard enthalpy of combustion of
CH3CHO(]) using an enthalpy level diagram.

. Standard enthalpy of formation of Fe;Os(s) and MgO(s) are -626 and -616 kJ mol*

respectively. Calculate the Standard enthalpy of reaction of the following using an
enthalpy level diagram.

Fe,04(s) +3Mg(s) — » 2Fe(s) + 3MgO(s)

Standard enthalpy of formation of C2Hx(g) and C2He(g) are +226.5 and -48.8 kJ mol*
respectively. Calculate the Standard enthalpy of reaction of the following using an
enthalpy level diagram.

H-C=C-H (g) + 2H2(g) D CHs-CHs (9)

Standard enthalpy of combustion of C2Hs(g), C(s, gr) and Hz(g) are -1260, -393, -286
kJ mol* respectively. Calculate the Standard enthalpy of formation of C2Hs(g) using an
enthalpy level diagram.

Standard enthalpy of combustion of C12H22011(s), C(s, gr) and Hz(g) are -5670, -393, -
286 kJ mol?! respectively. Calculate the Standard enthalpy of combustion of
C12H22011(S), using an enthalpy level diagram.

Standard enthalpy of combustion of CH3;CHO(l), C(s, gr) and Hz(g) are -1320, -393, -
286 kJ mol?! respectively. Calculate the Standard enthalpy of combustion of
CHsCHO(I), using an enthalpy level diagram.
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